BANK BRADESCO Form 6-K December 12, 2017

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of December, 2017 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family (x) Controller's

Dependants

Openning Balance

		oponing Danam					
						% of partici	pation
Тур	e of Securiti	es/Derivatives		Quantity	,	Same type of Shares	Total
	Common Non-Votin			2,231,703 68,908	,		36.5316 1.1279
		Month Movemer	ıt	,	, -		
Type of Securities/Derivatives	Broker	Operation	Day	Quantity F	Price	Value in	R\$
Common Shares	Banco Bradesco	Shares Transfers Outside B3 (Bradesco Book Entry Form)		11,827,2031	8.58	219,696	R\$ 5,560.92
Common Shares	S.A.	Total		11,827,203		219,696	R\$ 5,560.92
		Closing Balance	9				
						% of partici	pation
Тур	e of Securiti	es/Derivatives		Quantity	•	Same type of Shares	Total
	Common Non-Votin			2,243,530 68,908	•		36.7252 1.1279

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. () Board () Technical and Advisory (x)Board **Agencies** () Audit **Group and Family Dependants** of **Executive Committee Directors Officers Openning Balance** % of participation Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 13,850,826 0.45340.2267 Non-Voting Shares 29,114,592 0.95310.4765 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 13,850,826 0.45340.2267 Non-Voting Shares 29,114,592 0.95310.4765

Company: Bradesco Leasing S	.A. Arrend	amento Me	ercantil			
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	•	and Adv	isory
	Open	ining Balan	ice			
				% of par	rticipatior	ı
Type of Securities/D	erivatives		Quantity	Same type of	Shares	Total
Common Sha	res		()	0.0000	0.0000
Non-Voting Sh	ares		()	0.0000	0.0000
_	Clos	sing Baland	e			

% of participation

Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total
Common Shares	0	0.00000.0000
Non-Voting Shares	0	0.00000.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family Dependants	()Board of Directors	(X) Board of Executive Officers		() Audit Committee		() Technical and Advisory Agencies	
		Openning B	alance				
						% of participa	tion
Type of S	Securities/Derivati	ives		Quan	tity	Same type of Shares	Total
	ommon Shares n-Voting Shares			3,	72,516 160,156	0.0023 0.1034	
	3	Month Move	ement	,	,		
Type of Securities/Derivatives	Broker	Operation	n Day	Quantity	Price	Value in R	\$
Non-Voting Shares		Sell	21-Nov	3,711	33.81	R\$ 125,468.9 [.] R\$	1
Non-Voting Shares		Sell	21-Nov	7,500	34.30	257,250.00 R\$)
Non-Voting Shares		Sell	21-Nov	2,500	34.31	85,775.00 R\$	
Non-Voting Shares		Sell	21-Nov	3,711	33.84	125,580.24 R\$	1
Non-Voting Shares		Sell	21-Nov	1,811	34.16	61,863.76 R\$	
Non-Voting Shares		Sell	21-Nov	1,900	34.17	64,923.00 R\$	
Non-Voting Shares		Sell	21-Nov	585	34.00	19,890.00 R\$	
Non-Voting Shares		Sell	21-Nov	1,671	34.00	56,814.00 R\$	
Non-Voting Shares		Sell	21-Nov	1,604	34.00	54,536.00 R\$	
Non-Voting Shares		Sell	21-Nov	550	34.00	18,700.00 R\$	
Non-Voting Shares Non-Voting Shares		Sell Sell	21-Nov 21-Nov		34.00	1,258.00	

				800	34.03	R\$ 27,224.00
				000	J 4 .00	R\$
Non-Voting Shares		Sell	1-Nov	85	34.01	2,890.85 R\$
Non-Voting Shares		Sell	1-Nov	500	34.03	17,015.00
Non-Voting Shares		Sell	3-Nov	90	33.63	R\$ 3,026.70
		0 "				R\$
Non-Voting Shares		Sell	3-Nov	500	33.60	16,800.00 R\$
Non-Voting Shares		Sell	21-Nov	1,078	34.10	36,759.80
Non-Voting Shares		Sell	21-Nov	745	34.00	R\$ 25,330.00
•						R\$
Non-Voting Shares		Sell	21-Nov	21	34.00	714.00 R\$
Non-Voting Shares		Sell	21-Nov	600	34.03	20,418.00
Non-Voting Shares		Sell	21-Nov	621	34.00	R\$ 21,114.00
3 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -			_			R\$
Non-Voting Shares		Sell	21-Nov	930	34.36	31,954.80 R\$
Non-Voting Shares		Sell	21-Nov	838	34.00	28,492.00
Nam Vation Observe		0-11	04 Na.	00	04.54	R\$
Non-Voting Shares		Sell	21-Nov	23	34.51	793.73 R\$
Non-Voting Shares		Sell	21-Nov	1,000	34.54	34,540.00
Non-Voting Shares		Sell	8-Nov	600	33.03	R\$ 19,818.00
rton voung ondroo		Com	0 1101	000	00.00	R\$
Non-Voting Shares		Total		34,011		1,158,949.79
Non-Voting Shares	Bradesco S.A.	Rent	8-Nov	600	33.03	R\$ 19,818.00
Tion voing chares	C.T.V.M.	110111	0 1404	000	00.00	R\$
Non-Voting Shares	_	Total		600		19,818.00
	•	Closing B	salance			% of participation
Type of	Securities/Derivetive	20		Quant	itv	
rype or	Securities/Derivative	55		Quant	ııy	Same type of Shares Total
Co	ommon Shares				72,516	0.00230.0011
	n-Voting Shares			3,1	26,745	0.10230.0511

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants

()Board

() Board

() Technical

of

Of

Executive Committee Agencies

Officers

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same

type of Total

Shares

Common Shares 2,541 0.0000 0.0000 Non-Voting Shares 123,217 0.0040 0.0020

Closing Balance

% of

Type of Securities/Derivatives Quantity participation

Same

type of Total

Shares

Common Shares 2,541 0.00000.0000 Non-Voting Shares 123,217 0.00400.0020

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants

()Board

() Board

() Audit and Advisory

Officers

() Board

Of () Audit and Advisory

Officers

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same

type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Closing Balance

% of

Type of Securities/Derivatives Quantity Same

type of Total

Shares

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco

CPF/CNPJ:

Name:

Bradesco S.A. 60.746.948/0001-12

Qualification: Treasury

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity

Same type of Shares Total

Common Shares

5,032,549

0.16470.0823

Non-Voting Shares

18,855,746

0.61730.3086

Closing Balance

% of participation

Type of Securities/Derivatives

Quantity

Same type of Shares Total

Common Shares

5,032,549

0.16470.0823

Non-Voting Shares

18,855,746

0.61730.3086

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

2bCapital

Participações CPF/CNPJ:

Name: Ltda 11.814.208/0001-60

Qualification: Controlled / Related Company

Openning Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000**Closing Balance** % of participation Quantity Same type of Shares Total Type of Securities/Derivatives **Common Shares** 0 0.00000.0000Non-Voting Shares 0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

2bCapital CPF/CNPJ:

Name: S.A 07.063.675/0001-29

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.0000 0.0000
0.0000
% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares
Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

11

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ADC Bradesco -

Associação

Desportiva CPF/CNPJ:

Name: Classista 51.244.101/0001-49

Qualification: Controlled / Related Company

Type of Securities/Derivatives

Openning Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000**Closing Balance**

% of participation

Quantity Same type of Shares Total **Common Shares** 0 0.00000.0000

Non-Voting Shares 0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora

Corretora de

Títulos e Valores

CPF/CNPJ:

0

Name: Mobiliários S.A 74.014.747/0001-35

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Common Shares

Quantity
Same type of Shares

O 0.00000.0000
O.00000.0000

Closing Balance

% of participation

Quantity
Same type of Shares

O 0.00000.0000

O.00000.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora

Educacional CPF/CNPJ:

Name: Ltda 09.544.124/0001-02

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aicaré

Holdings

CPF/CNPJ:

Name: 09.235.141/0001-68 Ltda

Qualification: Controlled / Related Company

Type of Securities/Derivatives

Openning Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000

Closing Balance

% of participation

Quantity Same type of Shares Total Common Shares 0 0.00000.0000

Non-Voting Shares 0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada

Administradora de

CPF/CNPJ:

Name: Cartões Ltda 01.382.421/0001-97

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

Alvorada Companhia

Securitizadora de

Créditos CPF/CNPJ: Financeiros 03.572.412/0001-94

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada

Serviços e

Negócios CPF/CNPJ:

Name: Ltda 50.991.421/0001-08

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Amapari CPF/CNPJ:

Name: Holdings S.A 15.012.678/0001-61

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Andorra CPF/CNPJ:

Name: Holdings S.A 08.503.501/0001-00

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aporé CPF/CNPJ:

Name: Holdings S.A 15.011.651/0001-54

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aquarius

Holdings

CPF/CNPJ:

Name: Ltda 04.866.440/0001-87

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares
Total

Common Shares
0 0.00000.0000
Non-Voting Shares
0 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aranaú CPF/CNPJ:

Name: Holdings S.A 15.011.846/0001-02

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

ARFAB - Associação

Atlântica-Bradesco

Recreativa dos

Funcionários da

CPF/CNPJ: 42.413.153/0001-00

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares

O 0.00000.0000

Output

0

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: B	Banco Bradeso	o S.A.
------------	---------------	--------

Atlântica

Companhia de CPF/CNPJ:

Name: Seguros 33.151.291/0001-78

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares Total

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Qualification: Controlled / Related Company

Baíra

Holdings

CPF/CNPJ: 10.429.085/0001-81

Name: Ltda

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco CPF/CNPJ:

Name: Alvorada S.A 33.870.163/0001-84

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Boavista CPF/CNPJ:

Name: Interatlântico S.A 33.485.541/0001-06

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 9,563
 0.00030.0001

 Non-Voting Shares
 9,177
 0.00030.0001

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco CPF/CNPJ:

Name: Bradescard S.A 04.184.779/0001-01

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Qualification: Controlled / Related Company

Banco

Bradesco BBI

CPF/CNPJ: 06.271.464/0001-19

Name: S.A

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco

Bradesco

CPF/CNPJ:

33.147.315/0001-15

Name: BERJ S.A Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.0000
0.0000

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares
Total

Common Shares

0 0.00000.0000

0

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco

Bradesco

CPF/CNPJ:

Name: Cartões S.A 59.438.325/0001-01

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco CPF/CNPJ:

Name: Financiamentos S.A 07.207.996/0001-50

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco CPF/CNPJ:

Name: CBSS S.A 27.098.060/0001-45

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baneb

Corretora de

CPF/CNPJ:

Name:

Seguros S.A

14.560.304/0001-18

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares
Total

Common Shares
0 0.00000.0000
Non-Voting Shares
0 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar CPF/CNPJ:

Name: Brasil Ltda 34.046.581/0001-14

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar

Consultoria e

CPF/CNPJ:

Name: Serviços Ltda 67.529.289/0001-01

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Barinas CPF/CNPJ:

Name: Holdings S.A 15.011.336/0001-27

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BCN - Consultoria, Administração de

Bens, Serviços e CPF/CNPJ:

Name: Publicidade Ltda 52.842.408/0001-04

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives	Quantity Same t	ype of Shares Total	
Common Shares	0	0.0000.0000	
Non-Voting Shares	0	0.00000.0000	
Closing Balance			
_	% of participation		
Type of Securities/Derivatives	Quantity Same t	ype of Shares Total	
Common Shares	0	0.0000.0000	
Non-Voting Shares	0	0.00000.0000	

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEC -

Distribuidora de

Títulos e Valores CPF/CNPJ:

0

Name: Mobiliários Ltda 07.299.480/0001-82

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

When type of Shares

O 0.00000.0000

Closing Balance

Same type of Shares

O 0.00000.0000

Output

Common Shares

O 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEM -

Distribuidora de

Títulos e Valores CPF/CNPJ:

0

Name: Mobiliários Ltda 00.066.670/0001-00

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.0000 0.0000
0.0000
0.0000 0.0000

Closing Balance

% of participation

Quantity
Same type of Shares

O 0.0000 0.0000

Output

Output

Common Shares

O 0.0000 0.0000

Output

Out

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BF Promotora

de Vendas CPF/CNPJ:

0

Name: Ltda 02.038.394/0001-00

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.0000
0.0000
Voting Shares
Votal

Same type of Shares
Votal

Common Shares

Quantity
Same type of Shares
Votal

O 0.00000.0000

O 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Asset Management -Distribuidora de

Títulos e Valores CPF/CNPJ:

Name: Mobiliários Ltda 04.163.016/0001-76

Qualification: Controlled / Related Company

Openning Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000**Closing Balance** % of participation Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0.00000.0000Non-Voting Shares 0 0.00000.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC

Previdência

Privada S.A

CPF/CNPJ:

07.622.099/0001-02

Name: Qualification: Controlled / Related Company

Openning Balance

% of participation

• •	
Quantity Same type of Shares Tota	al
0.0000.000	00
0.00000.000	0
% of participation	
Quantity Same type of Shares Total	al
0 00000 000	١٨
0.00000.000	,U
	0 0.00000.000 0 0.00000.000 % of participation Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BP Promotora

de Vendas CPF/CNPJ:

0

Name: Ltda 07.131.760/0001-87

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.0000
0.0000
Voting Shares

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bpar

Corretagem de CPF/CNPJ:

Name: Seguros Ltda 43.133.503/0001-48

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives	Quantity Same type of	Shares Total
Common Shares Non-Voting Shares Closing Balance	0 0	0.00000.0000 0.00000.0000
5.50m g 2	% of par	ticipation
Type of Securities/Derivatives	Quantity Same type of	Shares Total
Common Shares Non-Voting Shares	0 0	0.00000.0000 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BPS

Participações e CPF/CNPJ:

Name: Serviços Ltda 02.858.535/0001-23

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.00000.0000
Closing Balance		
	%	of participation
Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescard Elo CPF/CNPJ:

0

Name: Participações S.A 09.226.818/0001-00

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares

O 0.00000.0000

Output

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco

Administradora de

Consórcios Ltda

CPF/CNPJ: 52.568.821/0001-22

Name: Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco

Auto/RE

Companhia de

CPF/CNPJ:

Name: Seguros

92.682.038/0001-00

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco CPF/CNPJ:

Name: Capitalização S.A 33.010.851/0001-74

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Leasing

S.A. -

Arrendamento CPF/CNPJ:

Name: Mercantil 47.509.120/0001-82

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares
Total

Common Shares
0 0.00000.0000
Non-Voting Shares
0 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco S.A. Corretora de Títulos e CPF/CNPJ:

Name: Valores Mobiliários 61.855.045/0001-32

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same
type of Total
Shares

 Common Shares
 23,642 0.00070.0003

 Non-Voting Shares
 9,206 0.00030.0001

Month Movement

Type of Securities/Derivatives	Broker	Operation	Day	Quantity Price	Value in R\$
Common Shares		Buy	3-Nov	•	R\$ 424,542.44
Common Shares		Buy	7-Nov	765 ^{30.76}	R\$ 23,531.40
Common Shares		Buy	14-Nov		R\$ 15,635.21
Common Shares		Buy	17-Nov	213 31.43	R\$ 6,694.59
Common Shares		Buy	22-Nov		
Common Shares		Buy	24-Nov	406 31.00	
Common Shares		Buy	28-Nov		R\$ 28,969.65
Common Shares		Buy	29-Nov	544 ^{30.70}	R\$ 16,700.80 R\$
Common Shares		Total		17,520	553,813.69
Non-Voting Shares		Buy	1-Nov		-
Non-Voting Shares		Buy	3-Nov	485 33.92	16,451.20

	_		32 75	R\$
Non-Voting Shares	Buy	7-Nov	5,990 32.75	196,172.50 R\$
Non-Voting Shares	Buy	9-Nov	1,287 32.71	42,097.77
Non-Voting Shares	Buy	14-Nov	225 ^{32.20}	R\$ 7,245.00
Non-Voting Shares	Buy	16-Jan	254 ^{33.04}	R\$ 8,392.16
Non-Voting Shares	Buy	17-Nov	5,769 33.62	R\$ 193,953.78
Non-Voting Shares	Buy	22-Nov	6,566 ^{34.00}	R\$ 223,244.00 R\$
Non-Voting Shares	Buy	28-Nov	4,702 33.50	157,517.00
Non-Voting Shares	Buy	29-Nov	1,759 ^{32.86}	R\$ 57,800.74
Non-Voting Shares	Total		27,680	R\$ 924,478.95
Common Shares	Sell	1-Nov	19,588 31.90	R\$ 624,857.20
Common Shares	Sell	6-Nov	13,456 31.69	R\$ 426,420.64
Common Shares	Sell	8-Nov	1,000 31.60	R\$ 31,600.00
Common Shares	Sell	9-Nov	807 30.50	R\$ 24,613.50
Common Shares	Sell	10-Nov	618 ^{30.63}	R\$ 18,929.34
Common Shares	Sell	13-Nov	370 ^{30.50}	R\$ 11,285.00 R\$
Common Shares	Sell	16-Nov	60 ^{30.67}	1,840.20 R\$
Common Shares	Sell	21-Nov	920 31.97	29,412.40 R\$
Common Shares	Sell	23-Nov	609 ^{31.38}	19,110.42 R\$
Common Shares	Sell	27-Nov	942 ^{31.20}	29,390.40 R\$
Common Shares	Sell	30-Nov	928 30.38	28,192.64 R\$
Common Shares	Total		39,298	1,245,651.74
Non-Voting Shares	Sell	6-Nov	1,521 ^{33.78}	R\$ 51,379.38
Non-Voting Shares	Sell	8-Nov	3,300 33.94	R\$ 112,002.00
Non-Voting Shares	Sell	10-Nov	2,383 32.74	R\$ 78,019.42
Non-Voting Shares Non-Voting Shares	Sell Sell	13-Nov 21-Nov	1,030 ^{32.90} 34.39	R\$ 33,887.00

					R\$
				3,767	129,547.13
				33 75	R\$
Non-Voting Shares		Sell	23-Nov	5,071 ^{33.75}	171,146.25
Non-Voting Shares		Sell	24-Nov	107 ^{33.45}	3,579.15
				33 40	R\$
Non-Voting Shares		Sell	27-Nov	3,977 33.40	132,831.80
				32 65	R\$
Non-Voting Shares		Sell	30-Nov	4,236 ^{32.65}	138,305.40
					R\$
Non-Voting Shares		Total		25,392	850,697.53
	Closing Bala	nce			
					% of
					participation
	Type of Securities/Derivatives			Quantity	Same
					type of Total
					Shares
	Common Shares			•	0.0000.0000
	Non-Voting Shares			11,494	0.00030.0001

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco CPF/CNPJ:

Name: Saúde S.A 92.693.118/0001-60

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco

SegPrev

Investimentos CPF/CNPJ:

Name: 07.394.162/0001-09 Ltda

Qualification: Controlled / Related Company

Openning Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000**Closing Balance**

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives

Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco CPF/CNPJ:

Name: Seguros S.A 33.055.146/0001-93

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Vida e CPF/CNPJ:

Name: Previdência S.A 51.990.695/0001-37

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescor

Corretora de CPF/CNPJ:

Name: Seguros Ltda 43.338.235/0001-09

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Qualification: Controlled / Related Company

Bradesplan

Participações

CPF/CNPJ: 61.782.769/0001-01

Name: Ltda

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Closing Balance

Quantity Same type of Shares

0 0.00000.0000
0.0000
0.0000

Closing Balance

% of participation

Type of Securities/Derivatives

Quantity Same type of Shares

Total

Common Shares

0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg CPF/CNPJ:

Name: Participações S.A 02.863.655/0001-19

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.00000.0000

 Non-Voting Shares
 0
 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg

Promotora de

CPF/CNPJ:

Name:

Non-Voting Shares

Vendas S.A

10.428.992/0001-06

Qualification: Controlled / Related Company

Openning Balance

% of participation

0.00000.0000

Quantity Same type of Shares Total Type of Securities/Derivatives **Common Shares** 0 0.00000.0000Non-Voting Shares 0 0.00000.0000**Closing Balance** % of participation Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

Bram - Bradesco

Asset

Management

S.A. DTVM 62.375.134/0001-44

Qualification: Controlled / Related Company

Openning Balance

% of participation

CPF/CNPJ:

Type of Securities/Derivatives	Quantity Same t	ype of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.00000.0000
Closing Balance		
	%	of participation
Type of Securities/Derivatives	Quantity Same t	ype of Shares Total
Common Shares	0	0.0000.0000
Non-Voting Shares	0	0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bréscia

Empreendimentos e Participações Ltda CPF/CNPJ: 08.427.630/0001-59

Name:

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares Total

Common Shares
0 0.00000.0000
Non-Voting Shares
0 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Affinity CPF/CNPJ:

Name: Ltda 08.977.053/0001-79

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

BSP

Empreendimento CPF/CNPJ: Imobiliário D166 Ltda 10.430.696/0001-40

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity Same type of Shares Total

Common Shares

0 0.00000.0000

Non-Voting Shares 0 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

BSP

Empreendimento CPF/CNPJ: Imobiliário D167 Ltda 10.430.769/0001-01

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity Same type of Shares Total

Common Shares

0 0.00000.0000

Non-Voting Shares

0 0.00000.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

BSP

Empreendimentos

Imobiliários D102

Ltda 14.310.249/0001-08

0

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

CPF/CNPJ:

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Common Shares

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

We of participation

Quantity
Same type of Shares

O 0.00000.0000

Output

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D103 CPF/CNPJ:

0

Name: Ltda 20.505.637/0001-47

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Common Shares

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

We of participation

Quantity
Same type of Shares

O 0.00000.0000

Output

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos CPF/CNPJ:

Name: Imobiliários D104 Ltda20.505.627/0001-01

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives	Quantity Same type	of Shares Total	
Common Shares Non-Voting Shares Closing Balance	0 0	0.00000.0000 0.00000.0000	
C	% of participation		
Type of Securities/Derivatives	Quantity Same type	of Shares Total	
Common Shares Non-Voting Shares	0 0	0.00000.0000 0.00000.0000	

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D105 CPF/CNPJ:

0

Name: Ltda 20.505.621/0001-34

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

We of participation

Common Shares

Quantity
Same type of Shares

O 0.00000.0000

Output

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D106 CPF/CNPJ:

Name: Ltda 20.505.658/0001-62

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

We of participation

Common Shares

Quantity
Same type of Shares

O 0.00000.0000

Output

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D107 CPF/CNPJ:

Name: Ltda 20.505.963/0001-54

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Common Shares

Closing Balance

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

We of participation

Quantity
Same type of Shares

O 0.00000.0000

Output

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D108 CPF/CNPJ:

Name: Ltda 20.505.933/0001-48

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Common Shares

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

When type of Shares

Quantity
Same type of Shares

O 0.00000.0000

Type of Securities/Derivatives

Quantity
Same type of Shares

O 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name:

BSP

Empreendimentos

Imobiliários D109

CPF/CNPJ: Ltda 20.505.923/0001-02

0

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Quantity Same type of Shares Total Type of Securities/Derivatives **Common Shares** 0.00000.00000 Non-Voting Shares 0 0.00000.0000**Closing Balance** % of participation Quantity Same type of Shares Total Type of Securities/Derivatives Common Shares 0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D110 CPF/CNPJ:

Name: Ltda 20.505.912/0001-22

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D111 CPF/CNPJ:

Name: Ltda 20.505.903/0001-31

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives

Quantity
Same type of Shares Total

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D112

CPF/CNPJ: Name: Ltda 20.505.887/0001-87

Qualification: Controlled / Related Company

Openning Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives

Common Shares 0.00000.00000 Non-Voting Shares 0 0.00000.0000

Closing Balance

% of participation

Quantity Same type of Shares Total Type of Securities/Derivatives

Common Shares 0 0.00000.0000Non-Voting Shares 0 0.00000.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

Empreendimentos

Imobiliários D113 CPF/CNPJ:

0

Name: Ltda 20.505.868/0001-50

Qualification: Controlled / Related Company

Non-Voting Shares

Openning Balance

% of participation

0.00000.0000

Type of Securities/Derivatives

Common Shares
Non-Voting Shares
Closing Balance

Closing Balance

Common Shares

Quantity
Same type of Shares

0 0.00000.0000
0.00000.0000

When type of Shares

Quantity
Same type of Shares

O 0.00000.0000

Type of Securities/Derivatives

Quantity
Same type of Shares

O 0.00000.0000